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The Land of Oz is blessed by many things, but not by good weather. They never have two nice days in a row. If they
have a nice day, they are just as likely to have snow as rain the next day. If they have snow or rain, they have an even
chance of having the same the next day. If there is change from snow or rain, only half of the time is this a

change to a nice day.Take the states as R, N, and S for the weather. Also give the transition matrix.







In the Dark Ages, Harvard, Dartmouth, and Yale admitted only male students. Assume that, at that time, 80 percent of the sons of Harvard men went to Harvard and the rest went to Yale, 40
percent of the sons of Yale men went to Yale, and the rest split evenly between Harvard and Dartmouth; and of the sons of Dartmouth men, 70 percent went to Dartmouth, 20 percent to
Harvard, and 10 percent to Yale. Give the tansition matrix and transition diagram.
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